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4.1 �
�	

�������������
�������������	
��
��������
�����
����� 
!��"#��
$� �$

%&�'��! MATLAB 

   �����������������������-�%���./#�
�����
*���'�� ADALINE &��
���������$ LMS �
� �#�����.����
� 3 ���	#� 3.1 ;����;���$��'��<�
����)�;��������=���
�
��$���$�������������������������
� $�./#�������#�
��
���>�%���$
 3 =�� �#&��  
  1.  =������
���� (Delay) �*E�=���
�'#�
./#.�������(�(�����$'#�	�
	#�$)��
���
���$�./#�*E����;(�	�
�
�����
*���'�� ADALINE ���./#=������
�����
��)
���� *�����.�#'#�

./#����%=��$���	�
'��*��$��������������'��$�� F��
����� $��;
%
;�'�����-*�&��$
���������$ �#   
  2.  ������ Tapped delay line (L) 	�
�
�����
*���'�� ADALINE �*E�=���
����(
��
=��$%��	�
	#�$)��
�'#�
./#.����=����� $
��'��=��$F��F#��	�
���=�����.�'��
*��$��������������'�� ��������� Tapped delay line $
=���)
 �����.�#������=���
	�
���=)�
������
������=����������	�
�
�����
*���'�� ADALINE &�����;(�$
=���)
'�$ *�#�% �����
���.�#'��*��$��������������'�� $���$���=��������������$.�#���M����� �#>�%.���%������
�
��$���$   
  3.  =����'�������
%��)#(α )  �*E�;���$��'��<�
��*E��
=<*�����	�
���������$ 

LMS >�%.��
�����
*���'�� ADALINE  =�������=��*��$��.�#�#�%��������������� 
max

1

λ
 F��
 

max

1

λ
$
=��-�%*��$���������

x
LP

1  �;������
%�>�;	�
���������$ [22] -�%�
� L =�� ������ 

Tapped delay line &�� 
x

P  =�� =�������
�P�
�%	�
�������
�'#�
����������������������  
  ������=����<;���$��'��<'��
 Q ��
�
������$�&�#�	#�
'#����)�/
�������'����
/
�
'�� *�
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  -    ��'������)��	#� (Convergent rate)  
  -    =����$*�����Y�Z����$;��Y< (Correlation coefficients [23]) 
  -    =��=��$���;��������
��
�P�
�%&����$�� �F< (Normalized mean square 
error, NMSE)         
-�%��'������)��	#�&��
��
=��$��M�.�����	#��)�=��'��	�
�
�����
*���'�� ADALINE  =��
��$*�����Y�Z����$;��Y<&��=��=��$���;��������
��
�P�
�%&����$�� �F<�*E�=���
�/
�=(�>�;
��������������������	�
�
�����
*���'�� ADALINE F��
=����$*�����Y�Z����$;��Y<�
��
=��
$
=���	#�.��#����
 &��=��=��$���;��������
��
�P�
�%&����$�� �F<=��$
=���	#�.��#c)�%< 
  ���
�
������=��;���$��'��<�
���$���$�������������������������
��������
������������ !!"�	�
��#�$�������%-�%���./#�
�����
*���'�� ADALINE .�
������%�
����
 �#-�%����	
%�-*�&��$�����
���������$.�������������������-*�&��$ MATLAB F��

$
��%����
%���
'�� *�
� 

  4.1.1  ��-��
�'���.&���/ 

  ��������
������������������
�������������������� !!"�
��#�$�������% ����$'#�-�%�����������
�����������	�
���� !!"� 50 Hz �#�%������=����
�)* F�<=��$�
�  50 Hz &�$;���)� 0.8  F�� 
�����.�# �#=�������
 �P�
�%	�
������ =�� 

2

8.0

2

22

==
A

P
x

= 0.32 &�������
������ !!"�	�
��#�$�������%�#�%�������������(�$&��

����<�F
%� *�����
�����
����&��=��$�
�F��
$
=(��$��'����=�#�
���=(��$��'���
=��$�
�	�

������ !!"�	�
��#�$�������% -�%�
�����
�
�./#�*E��
�����
����&��=��$�
��!��/�
��#� 
���&���#�%��Y
=���������;���$=
�
� (Equiripple) F��
$
=��;���$��'��<�
�./#.�������&�� 
��
'�� *�
� 
  �(������(�	�
&��=��$�
��%(��
� 1 =��   10 Hz 
  �(�����$'#�	�
&��=��$�
�����  =��   20 Hz 
  �(������(�	�
&��=��$�
����� =��    145 Hz 
  �(�����$'#�	�
&��=��$�
��%(��
� 2 =��   155 Hz 
  =���������;���$	�
&��=��$�
����� =��    1 dB 
  =����������	�
&��=��$�
��%(����
��
 =��        30 dB 
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�������
�./#.���������
���*E������� !!"�	�
��#�$�������%��$��������������	�

���� !!"� 50 Hz �
���#�
	��� ������ 200 ������  ������ Tapped delay line �
����)������.�
��������
 =�� 10, 20, 40, 60, &�� 80  =����'�������
%��)#�
�./#.���������
=���������#�%�� 5 

	�
�)'� 
xLP

1   �#&�� 0.0156, 0.0078, 0.0039, 0.0026, &�� 0.0019 '�$������   ���������	�
'��

��
/
��
����������
'�� *�
� �#$���������=���P�
�%	�
������������ 200 ������ F��
���
� �#���
��������
$
��%����
%�'�
'�� *�
� 
 
  4.1.2  ���
�	

��� 
  -    =������
����    
   =������
���� ;������ �#������=�����=����'����$;��Y<�P�
�%	�

������ !!"�	�
��#�$�������% ������ 200 �������
�=��������$�#����
 (lag) '��
 Q  -�%
=��$��$;��Y<��
�����&��
��
>�;*����� 4-1   F��
&��
 �#���=������
����=�����	
�����$�*�
�%�
	�
=����'����$;��Y<�P�
�%�
�'������� 0.2 F��
��$�����M� �#������!-�%*��$��'�
���=��������$
�#����
������� 10  ��
����.���������
	���'����� *��./#=������
�����#����
�*E������� 10 
'���%��
 (samples) 
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>�;*����� 4-1  =��$��$;��Y<������
=����'����$;��Y<�P�
�%&��=��������$�#����
 

 -    ������ Tapped delay line &����'�������
%��)#    
  �$���./#;���$� �'��<'��
 Q ��
�����.���Y
��������
 &���� �=����<

=��$��$���.���������������������	�
�
�����
*���'�� ADALINE �#�%'����
/
� -�%
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=����$*�����Y<����$;��Y<&��=��=��$���;��������
��
�P�
�%&����$�� �F<���)�&��
.��)*
	�
=���P�
�%���&����=����
�%
���$�'�m�� F��
��	�
'����
/
������������
&��
��
'���
�
� 4-1 

'���
�
� 4-1  ��	�
'����
/
������������
�#�%-*�&��$ MATLAB 

 
���'���
�
� 4-1 ����M� �#����$���=����'�������
%��)#$
=��'����
 ��'������)��	#���/#��
 &'��
�����

*���'�� ADALINE ��$�������������������� �#�
	��� ������������� Tapped delay line �$���$

=��'����
 ��'������)��	#�����M�	���&'�*�����Y�>�;��������������������	�
�
�����
*���'���M
���
'�$ *�#�% -�%=��$��$���.���������������������	�
�
�����
*���'�� ADALINE 
��
%����=����$*�����Y<����$;��Y<&��=�� NMSE &��
��
>�;*����� 4-2  
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(a)  =����$*�����Y<����$;��Y< 0.73 &�� =�� NMSE 0.76 �
� Tapped delay line =10, α = 0.0156 

Tapped delay 
line 

Learning 
rate 

Convergent rate  
(sample) 

Correlation coefficient NMSE 

10 0.0156 150 0.73 ± 0.02 0.75 ± 0.04 
20 0.0078 170 0.82 ± 0.02 0.44 ± 0.04 
40 0.0039 200 0.88 ± 0.02 0.26 ± 0.04 
60 0.0026 200 0.91 ± 0.02 0.19 ± 0.03 
80 0.0019 200 0.92 ± 0.02 0.16 ± 0.03 
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(b)  =����$*�����Y<����$;��Y< 0.92 &�� =�� NMSE 0.16 �
� Tapped delay line =80, α = 0.0019 

>�;*����� 4-2  =��$��$����������������������
%����=����$*�����Y<����$;��Y<&��  
                              =�� NMSE �
�'��
��� 

���>�;*����� 4-2  ����
��' �#����$���=����$*�����Y<����$;��Y<$
=���	#�.��# 1 &��=�� NMSE 
�	#�.��# 0  ������ !!"�	�
��#�$�������%�
�������������������������$
=��$.��#�=
%
���
������ !!"�	�
��#�$�������%���
���$$��%��
	���  

  �����$���������=��$�)#.����	#��
� *./#.���������;���$��'��<.�#
��$���$����������-*�&��$���������$��'��*��$��������������'�� �#  �/�� '��
*��$��������������'���
�$
����%=��$���'�������=��$��M�	�
���*��$����������'��� 
�����'#�
�������� Tapped Delay Line 	�
�
�����
*���'�� ADALINE �
 &$#���
*�����Y�>�;��������������������	�
�
�����
�����
&'������%�
�%)�.�/��
�
�%�$��� �# 
����.����*��%(�'<./#
����
�%��
�������=����'�������
%��)#�
�;����;��$*�����Y�>�;���������
�����������	�
�
�����
 -�%�
���'������)��	#��
�/#��
 $���
�������'��*�����Y�>�;	�

���./#
��-�%��$  
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4.2 �
�	

�������������
�������������	
��
��������
�����
����� 
!��"#��
$� �$ 

%&�'��! Code Composer Studio (CCS) 
  ������	#� 4.1  �#���������&��-*�&��$�;��������
������
��	�
������
�����������-�%���./#-*�&��$ MATLAB F��
���.�#����=��$�	#�.�.�����	�
���������$
&��=��;���$��'��<�
�$
��'��*�����Y�>�;	�
���������������� �������������&��
-*�&��$���������$������������������;��������
������
��.����	#��
���������'��
*��$��������������'�� �#�%>�p�F
&�� Fixed s point [24], [25] -�%������'��'��������

 $-=�=�$;���'��<&��'��*��$��������������'���#�%-*�&��$ CCS �����<� DSK 
TMS320VC5509A  

 

4.2.1  ��-��
�'���.&���/ 
  ��������
������������������
�������������������� !!"�	�


��#�$�������%-�%���./#�
�����
 ADALINE &�����������$ LMS ��-*�&��$ CCS �������
���<� TMS320VC5509A  $
��������������
��
&��
.�>�;*����� 4-3    

 

 
   >�;*����� 4-3   ���&��$��������
���������$�������������-�%���./#�
�����
 
                                  *���'�� ADALINE &�����������$ LMS �����<� TMS320VC5509A 

���>�;*����� 4-3  -*�&��$ CCS ����	#�$)����;(���� !�<�
���#�
���-*�&��$ MATLAB 
.��)*&����	�������'M$ 16 ��'-�%./#�)*&�� Q.15 �;���./#�*E����������;(� ( 0ns + ) .�#���
���������$��������������
����&��-*�&��$�#�%>�p�F
&�� Fixed s point -�%-*�&��$ 
CCS ��'��'��������<� DSK TMS320VC5509A �;���*��$����������'�$-*�&��$�
� �#
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���&�� �# F��
$
������������
��	�
���������$��
>�;*����� 4-4  �������=��������
����<;(�	�
���� ( e ) �
� �#���)�-*�&��$ CCS ��M��������*E� !�<   
   

 
 
 
 
 
 
 
 
 
 
 
 

 

>�;*����� 4-4  ������������
��	�
�����������������-�%���./# 
                                              �
�����
*���'�� ADALINE �
�./#���������$&�� LMS 
 

���������������
������ !!"�	�
��#�$�������%  =��;���$��'��<&��
'����
/
�=��$��$���.�����������������	�
������������������
�./#.���������
�*E� *'�$��������
��-*�&��$ MATLAB .����	#� 4.1 -�%=��'����	�
�./#���)�&*�
.�#�%)�.� 
Q.15 format  &����	�
'����
/
��
����������
'�� * �#$���������=���P�
�%	�
������������ 3 
������ 
 
  4.2.2  ���
�	

��� 
   ����������
-*�&��$��&��
�#�%'����
/
�	�
=����$*�����Y<
����$;��Y<&��=��=��$���;��������
��
�P�
�%&����$�� �F<.��)*	�
=���P�
�%���&����=��
��
�%
���$�'�m�� ��
&��
'�$'���
�
� 4-2   

Delayed version of input data  

 

Calculate the output (a) 

bkka
T += )()( pw  

Update the weigh & the bias  

)(2)()1(

)()(2)()1(

kekbkb

kekkk

α

α

+=+

+=+ pww
 

Calculate the error (e) 

)()]()([)( 0 kaknkske −+=  

Start 

Get the input data 

Define and clear variables 
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'���
�
� 4-2  ��	�
'����
/
������������
�#�%-*�&��$ Code Composer Studio 

 
���'���
�
� 4-2 ����M� �#����$���=����'�������
%��)#$
=��'����
 ��'������)��	#���/#��
 &'��
�����
 
ADALINE ��$�������������������� �#�
	��� ������������� Tapped delay line �$���$
=��'����
 
��'������)��	#�����M�	���&'�*�����Y�>�;��������������������	�
�
�����
&��*���'���M
���
'�$ *�#�% ������������
�./#.����*��$����'������
�(�������.����
�
������� Taped 
delay line �*E� 10 &�� 80 taps =�� 4.08 µs &�� 31.90 µs '�$������ 

���
�
�=��$��$���.���������������������	�
������������
������
� �#���-*�&��$>�p�F
&�� Fixed s point �����<� DSK TMS320VC5509A &��
��

>�;*����� 4-5 

 

Tapped delay 
line 

Learning 
rate 

Convergent rate  
(sample) 

Correlation coefficient NMSE 

10 511 100 0.72 ± 0.03 0.79 ± 0.03 
80 62 150 0.90 ± 0.02 0.20 ± 0.02 

The speed of processing 
Tepped delay 

line 
Learning 

rate 
Clock cycle/sample Time (µs) 

10 511 815 4.08 
80 62 6,379 31.90 
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(a) ��	�
����������<;(�	�
���� (e) ��������� !!"�	�
��#�$�������% (s) �$��� Tapped 
delay line = 10, α = 511 
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(b)  ��	�
����������<;(�	�
���� (e) ��������� !!"�	�
��#�$�������% (s) �$��� Tapped   
        delay line = 80, α = 62 

>�;*����� 4-5 ����������
���������$�������������������<� DSK TMS320VC5509A 

���>�;*����� 4-5 ����
��' �#���.����
�
������� Tapped delay line $�� =����'�������
%��)#
�#�%  =����$*�����Y<����$;��Y<��$
=���	#�.��# 1 &��=�� NMSE �	#�.��# 0  ����������<;(�	�


Correlation Coefficient  

= 
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�������������� !!"�	�
��#�$�������%�
�������������������������$
=��$.��#�=
%
���
������ !!"�	�
��#�$�������%���
���$$��%��
	��� 
 

4.3  �
�	

�������@��		��	.�����!@ �����
���"��

A����B &C�$���!�&D�A
�
���"�� �$%&�'��! 

Code Composer Studio (CCS) 
  .����
� 3 ���	#� 3.2  �#�������
��Y
�����
=��'c��'�<�
���$������=����<
�(�����$'#�	�
�������F��
��� �#-�%����������
�P�
�%	�
������ !!"������#�$���������	�
�)#*+�%
�
������������(� Q 60 $���������
  ��
�*E� *'�$�$����
� (3-21)  �$���������������
�����$�
���&�������#�%��Y
����/�
'����	 �� �#�$���.����=����������
�P�
�%	�
������ ��
�$���
�
� (4-1)  
 

                                                              )(
11

0

2
nV

N
P

N

n

inav ∑
−

=

=                                                       (4-1) 

 
-�%�
� N = 60 
          

av
P &�������
�P�
�%	�
������ !!"������#�$��������� 

           )(nV
in

&�������� !!"������#�$��������� 

�����Y
�����
=��'c��'�<F��
�*E� *'�$�$����
� (4-1) ��
 �#$
������&������'������
�(�����$'#��������-�%$
������������
��	�
���� ��
&��
.�>�;*����� 4-6 F��
��� �#-�%
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Start

Declare the variable :  threshold, n = 0, t = 0, Pav = 0, temp = 0.

1

Get the signal after noise removal (    )

n = = 60

Clear n = 0, Pav = 0.

Calculate the average power (Pav)

n = n + 1

t < 1000

Pav >= threshold

temp = 1

t = t + 1

t == 1000 && temp = 1

Pav < threshold && temp = 1

temp = 0 temp = 0

t = 0

1

No

in
V

No

No

No

No

Yes

Yes

Yes

Yes

Yes

 Calculate the average power of signal (Pav) By using Eq. )(
1 2

1

0

nV
N

Pav
in

N

n

∑
−

=

=
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